e ¥ ANL

2 A (2 Xt2])
OlE: 2 S
3.47 2.23 6.6 7.84 3.06
-9.69 -2.9 —0.56 4.2 —-2.26
9.64 5.69 3.86 2.95 7.86
—2.54 -4 —5.85 —5.53 —-8.69
/.14 7.21 5.36 8.22 8.81
—-2.06 -7.79 -5.35 —6.75 -5.01
8.37 1 4.51 6.79 3.89
—-5.55 -5.78 -3.24 -7.37 —-2.64
5.48 9.92 4.4 5.32 492
—-2.84 -2.18 —-2.75 —-7.95 -4.16
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m@%% A= WAL (2 XE2])

0| F: ELAS =

3.47 2.23 6.6 7.84 8.06
-9.69 -2.9 —6.56 -4.2 —2.260
-1.22 -0.67 0.04 3.64 5.8

9.64 5.69 3.86 2.95 7.86
—2.54 -4 —-5.85 —5.53 —-8.69

7.1 1.69 3.01 —2.58 -0.83

7.14 7.21 5.36 8.22 8.81
—-2.06 -/.79 —-5.35 —-6.75 —5.01

5.08 —-0.58 0.01 1.47 3.8

8.37 1 4.57 6.79 3.89
—5.55 —-5.78 —3.24 —/.37 —-2.64

2.82 -4.78 1.27 —-0.58 6.25

5.48 9.92 4.4 5.32 4.92
—-2.84 -2.18 —-2.75 —7.95 -4.16

2.64 7.74 1.65 —-2.63 0.76
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